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Annex 5: Statistical data
analysis

Group 9: Acid oxalate extractable Fe and
Al (SA13)

Reactive Al and reactive Fe
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Histogram of the means of samples A, B and C
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Histogram of the means of samples D and E
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Box plot of the means of samples A, B and C
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Box plot of the means of samples D and E
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Histogram of the standard deviations of samples D and E
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Box plot of the standard deviations of samples A, B and C
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Box plot of the standard deviations of samples D and E
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Mandel's h and k plots of sample B
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Mandel’s h and k plots of sample C
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Mandel's h and k plots of sample D
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Mandel's h and k plots of sample E
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Histogram of the means of samples A, B and C
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Histogram of the means of samples D and E
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Box plot of the means of samples A, B and C
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Box plot of the means of samples D and E
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Histogram of the standard deviations of samples D and E
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Box plot of the standard deviations of samples A, B and C
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Box plot of the standard deviations of samples D and E
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Mandel's h and k plots of sample A
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Mandel's k
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Mandel's h and k plots of sample B

9 - Reactive Fe - sample B
Step:1; Nlab:27; Mgen:2734; Fval:188.2; Pval:0; sRep:73.98; sLab:584.4; sRpr:589.1; CV:21.55
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Mandel's k
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Mandel’s h and k plots of sample C

9 - Reactive Fe - sample C
Step:1; Nlab:27; Mgen:1729; Fval:122.1; Pval:0; sRep:74.88; sLab:475.8; sRpr:481.7; CV:27.86
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Mandel's h and k plots of sample D

9 - Reactive Fe - sample D
Step:1; Nlab:27; Mgen:3871; Fval:405.1; Pval:0; sRep:137.1; sLab:1591; sRpr:1597; CV:41.24
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Mandel's h

Mandel's k

Mandel's h and k plots of sample E

9 - Reactive Fe - sample E
Step:1; Nlab:26; Mgen:306.1; Fval:114.5; Pval:0; sRep:15.71; sLab:96.62; sRpr:97.89; CV:31.98
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